
SPTA 

Block 6  

Revision – Answers 
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N5 

a + c 

2a + b 

3a + c 

2b + 2c 



2. a) B(8 , 6 , 0)  &  D(4 , 3 , 9) 

 b) O(0 , 0 , 0), B(6 , 0 , 0), C(6 , 3 , 0), D(0 , 3 , 0), E(0 , 0 , 4), F(6 , 0 , 4), G(6 , 3 , 4)  &  H(0 , 3 , 4) 

 

3. a)  𝑢 + 𝑣 + 𝑤 = (
5
6
5

)         (b)  𝑝 + 𝑞 + 𝑟 = (
−3
5

−8
) (c)  𝑎 + 𝑏 + 𝑐 = (

1
0
3

) 

 

4. 𝑎 = (
2
2

) , 𝑏 = (
4
1

) , 𝑐 = (
4
6

)   

    

 

5. a)   √45 𝑜𝑟 3√5                 (b)   √305          (c)   √337               (d)   √1076  𝑜𝑟  2√269 

 


